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( Hindi and Enghsh Versions )

: f ue 15 fime | [qUrie : 70
7
TR & 15 fiFe adentit & weaes ger & fore Frifie €
First 15 minutes are allotted for the candidates to read the question paper.
Tl wyF A ¥ |

T WY F f @US, @IS - H TH WU - F§ |

@UE - A T 1 3F & 20 FaFHF TF £ FF I Mo THo ANo IW TF W Hiat
SO IS ST W3 w4 9El a%ew g e ® O w9 § wen & o w1

@|UZE - 3 F VT T B (29 UgH Fad WA Ao WHo 3o IR U5d T & I 3 |
Ao THo 3o I UF& W I 34 & 0T I¥ 6] IS 79T TR S19aT 13T &1 W& F
H{ |

Tve ¥ o IS gY@ SifRd & | "
WUE - T 50 3% & IUAAS T & | $9 GUS H U1, SUMCHER-I] qYT HETa
g g U €

AvE - @ 3 Tt TR & I O Y@ B

79 Y¥ § S FHifIe 79l aﬁlﬂﬂﬁﬁﬁﬁﬁw | ST W 7 I & I W GHE AL T
ST | N
ﬁqmnﬁhﬁﬁmm%mm@%wm HEYTF ¢
q@aﬁmmﬁﬁﬁmmﬁimﬁmmm#mmgm et o(B) fer@? %
fer few & €1
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Instructions :

vi)

vii)

viii)

All questions are compulsory. | . .

This question paper has two Parts Qart-A and Part-B.

Part-A consists of 20 muiltiple choirgéj questions of one mark each that have to be
answered on OMR Answer Sheet b?idarkening completely the correct circle with

blue or black ballpoint pen. o

o .
For Part-A read the question-wise instructions and mark your answer on the given

OMR Answer Sheet only. Do not cut, erase or use whitener on the OMR Answer |

Sheet after answering,

-,

Marks of the questions are mentiongd against them.
Part-B consists of descriptive type questions of 50 marks. There are Descriptive-],
Descriptive-II and two map related questions in this part.
All the questions of Part-B are to be attemnpted all at a time.
Start from the first question and go up to the last question. Do not waste your
time on the question you cannot solve,
Attach firmly the supplied maps in your answer-book.
For visually impaired examinees Qﬁestion Nos. 9(A) and 9(B) have been given
separately for writing answers in lieu of map work.

qs - A

PART - A

( Fgfawedta wy )

( Multiple Choice Type Questions )

firdwr : AR fn T aw % e T & 9N e R #) @ Reer TR 38 OMR IR @

‘?{Iﬁ%ﬂﬁ:

Instruction : Four alternatives are given for each of the following questions. Choose the

7031

correct alternative and ma.rl-c,oxll OMR answer sheet :
i 8 3 78 =19 8, B fodq, =9, Wgﬂlaﬁmﬁ?ﬁmﬁﬁa‘iﬁ 1815 o # ey 1
P
AT T 93T ? N

o

(A) ¥ T fareTh ‘B feeer |

(G) aifer ST (D) w=frg 1
v
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Who among the following had to face defeat in 1815 A.D. from superpowers like
Britain, Russia, Prussia and Austria ?

(A) Otto von Bismarck (B) Hitler

(C) Napoleon Bonzparte ° {[ﬁa Metternich 1
‘mmﬁm%aﬁm@uﬁwr@%m%t“mw%?

(&) W@ (1353 foremsh

© wifsRm Dl ¥ 1

“When France sneezes, the rest of the Europe catches cold.” Whose statement is
this ?
(A) Metternich (B)

8
(C) Louis Philippe (D)'” Napoleon 1

FRUE He iy it were form gder o g off 2

Bismarck

(A) Teiy guies d (B) amaty ) wft g

(Q oA 50 geH | (D) 3R 3fvew At & ate 1
In which conference was the International Monetary Fund established ?

(A} Non-Aligned Conference [Bll\_'n Treaty of Versailles

(C) Bretton Woods Conference (D) Conference of East India Company 1

eUR' 1w Al 1890 €0 3 Fei & Feht o

(A)= IThYEHT (B) > T ardfh

(C) ¥ma (D) ®d 1
From where did the disease called ‘Rinderpest’ spread in 1890 AD ?

(A) Africa (B) South America

(C) India (D}~ Russia 1

ﬁﬁnﬁﬁ'wﬁwmmﬁnﬁﬁ%ﬁaﬁg%@ﬁmmm?
(&) FE RIS FA R (B)  HIS R yeE F forw
© g fmin w1 ¥ frg (D) i) <6 gew % forg

1
‘Spinning Jenny’ machine was used for
(A) Speed up the spinning process %
(B) For washing clothes @)
{C:) Construction of tunnel EMQ
(D) For digging soil {.CB 1
7 [ Turn over
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6.

10.

10.

7031

P 8 R} el feeh @ R e
(A) o sfimta sl anaEt (B) wgre Mt

() <A H () D) do Wi B®
o
The author of ‘Gulamgiri’ is 9y

7 '
(A)  Dr. Bhimrao Ramji Ambedkar (B) ~Mahatma Gandhi

(C) Jyotiba Phule 32 (D)  Pandit Motilal Nehru

T 1 Gfaum & o Wﬁ%)waa@%mw%?

(A) el ST (B) R argEe

(C) el g () (O el e

In which schedule of the Constitution of India is language mentioned ?
(A) First Schedule (B)  Third Schedule

(C) Twelve Schedule (D) Eighth Schedule

fava =1 w8 T8 AFafas <w ?

(A) 3wl ., (Bl

(€ w4 (D) wiE

Which one of the following is the largest democratic country in the world ?
(A) America . (B) India

(C) Russia (D) France

‘10 Wit gea wfufmn’ e d9g 4 e wia e @ 2

(A) 1950 (B) 2014

(C) 1999 (D) 2023

When was the 'Nari Shakti Vantiila'p Act' passed in the Indian Parliament ?
(A) 1950 (B} 2014

(C) 1999 (D) 2023.

TEH A T B

(4) &nfi T B wEE

(C) STTEEH! I & f‘ﬂ (D)  wigenawt & o

Bahujan Samaj Party is a 'r‘j

(A) Regional Party E‘:' (B) National Party

(C) Minorities' Party ¢») (D) Women's Party
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12.

12.

13.

13.

14.

14.
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5 825(CW)
anfifs §9f& 6 F-1 wrw F 3w N Fwen 2 o wira fen T

(A TE g o) wfa =afts 3

(C) WHE ] I r(im < T 1

Which measurement of the cconbﬁlc growth includes the population of the
country also ? 03

(A) National Income Cfﬁ) Per capita Income

(C) Gross Domestic Product (D) Net National Income 1
AT g3 vt o1 wd few & o1 w2 2

(A)  smfis %}ﬁm

@ T () ¥ & P 7 .
The work of online food delivery is a profession of which sector ?

(A) Primary (B)  Secondary

(C) Tertiary E (D) None of these 1
fr=fafgs § @ 99 srfwis g =1 E}_‘E 22

(A) P Rrn 0 =L (B) EEIYE &% & forn mn ww

() uewr affadi A R ww (D) $fee F1E 2 T R 1

Which one of the following is a source of informal credit ?
(A) Credit taken from a friend

(B} Credit taken from a commercigl_bank

(C) Credit taken from ccv-cup:sra;t_i'.reIL ls'slzz'c:ietif:s‘.

(D) Cash withdrawal through a credit card 1

HAPG SR § A 2l 8

(A) ©R Wi m;ﬁﬁﬁ

(C) (A) 3R (B) - ESDJ fomeh %1 7t 1

International trade favours {:2

(A) Small countries E{ﬁ] Big countries

(C) Both (A) and (B) (D} None of these 1
v | Turn over
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15.

15.

16.

16.

17.

17.

18.

18.

7031

IO HIAT

(A) IR AR A FE E (B) mﬁﬂwﬁﬂmﬁﬁ

© wRwR R whE (o) e & de st @ b
9))

Consumer courts N
(A) Protect the rights of a consumer Eﬁ

J
(B} Encourage international trade e

(C}) Protect human rights

(D) Control competitions between industries

mﬁwmwmmmé(ij
(A)  40% B)  30%
©) 27% D) 16%

What percentage of the total area of India is mountainous ?

(A) 40% (B), | 30%

(C) 27% (D). 16%
ferferfiga § & ®9 wa S qu iR At § 2 2

() R weh (B) <

(€ et (O) ieft ¥

Which one of the following comes under extinct class in India ?
(A) Asian Elephants (B,]-« Cheetah

(C) Rhinoceros (D)’ Blue Sheep

Afafga 3§ @ SF-T1 012 3T B IR T @ ?

(A) SER (B) @I=EU

() wit (D W&

Which one of the following is not an c:'g‘_ample of millet ?
N

(A) Jowar ( Sorghum) (B> Bajra

(C) Ragi (Eﬁ Arhar
v
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At a3 ugall % Mg & St s ) Ag ww e werie s @) s itk @ ag @t 8

19.
(A) T u?) R -gouma
© Iy )y T A B T 1

¢)’ .
19.  Sohan has installed a biogas plant tofgdt fuel from animal wastes. This method of
()

getling energy is co
(A)  Conventional [Ef]d Non-conventional
(C) A makeshift (D) None of these 1
20.  SHETw SR g ghar @
(1)
(A) Q¥ (B) 9T g ,
(€) S SEE (D) & T !
20.  Fossil fuel causes
(A)  Soil pollution (B)  Air pollution
(C) Water pollution ([?t}g Noise pollution 1
Lc LT |
")
PART - B
[
‘Y
( AU - 1)
( Descriptive - 1)
( F7=1 Al & 3T TAS T 80 V=T H AT )
( Write answers of the following qldc?tions in about 80 words each. )
1. YR rferaen W e & 9 YT INE % SgE R 2+2
YT
faza #i srefegary & fawm § aA & IqE D IEHE F1 G ) 2+2
1. Mention two major impacts of the Great Depression on the Indian economy. 2+ 2
()
aR,
Mention two major contributions o{:.ﬂcchnalogy in the development of world
() 2+2

economy ?

7031 N4 [ Turn over
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Wehaa I, Rrlien qur AW TR H TS w81 e i 4

Gy
mmﬂmwmﬁ?ﬁqwﬁmmzﬁﬁiﬁm“ﬁa

N
$ifom) N 1+3

Q0
‘Democracy creates accountablef'grespunsiblc and legitimate government.’
Explain. 4

“OR

() :
What do you understand by coalition government ? Mention the role of regional
political parties in coalition government. 1+3
vt F ofonia Hifvm 3% @ aw fafag 2+1+1

HYUdr

T T I A FRE TR Qo @ w2 2 98 o fidl 6 1@ S L EHa R ?
2492
Define globalisation. Write two benefits of it. 2+1+1

OR

How an average consumer can be cheated ? How can he pratects his interest ?

2+72
Tfaes saaeT 1 A i AETEE ¢ 2 s Q HR0 | 242
Ay
YT A a1 I I § farg Hif 2+2
Why is the development of transpof&?ion system necessary ? Give any two causes.
i
N
% 2+2
COR
oo
Differentiate between basic and con‘sﬁmption industries. 2+2
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( auiATEE - 1)
( Descriptive - II ) _
( Pt wwat & S weg)emm 150 v=i F A )

: N
( Write answers of the followinggjuestions in about 150 words each. )

mmﬂmﬂmﬂﬁ?ﬁ%?g@%maﬂwﬁwsﬁ@ﬁp 2+4
weett R SR 3 e § i 3 mpar % 3o F de e SR 6
What do you understand by Non-Cooperation movement ? ‘Mention its' main
reasons. 2+ 4
(1)
OR
Analyse the contribution of the rise of Nationalism in Europe in the unification of
[taly and Germany., 6
m%mwwﬁmmﬁmmﬁmy 6
Hgqr |
ﬁﬁmmmémwmyﬁ%?lﬁﬁaﬁmmmﬁqﬁmaﬁ%uﬁﬁﬁﬁm
HehIH EI'%‘WI y 6
)
Describe the main features of Indian Federal System of Government. 6
- OR
What do you understand by Gender inequality ? Throw light on the representation
of women in the political system of India. - 6
A a6 H W1 WA § P UF 3G A & Fa w0 Y geaE awqel F e
wuTEl il ==l fif| 2+2+2
3 _
mﬁsﬁ?&a%ﬁmﬁmﬁwﬂqﬁm%ﬂ%?ﬁﬁﬁawﬁmaﬁaﬁﬁm
" 3+3

What does Public goods mean ? Discuss any two effects of public goods on the

standard of living of a common ma.f'jrJ https://www.upboardonline.com 2+2 +2

N OR
9))
Is the support of government rcqu{aje‘u in the development of private sector ? Write
any two reasons. oo 3+3
Y
[ Turn over
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9(A).
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10

?§ﬁw““5wm$“¥"ﬁﬁ%?1mﬁaaﬂﬁmmqémmmﬁiﬁawmrmmm

R P 244

@

AYEL

&)
ﬁﬂmeEmfmmﬁﬁ:mquWW&%?ﬁﬁﬁaﬁvmmmmsﬁjﬁﬁqlwﬂﬂ

0
sifera w

2+2+2

What are the multipurpose river projects ? How do they help water conservation

0
and water management ? U 2+4
OR

What do you understand by non-conventional energy resources ? Throw light on

any two sources of non-conventional energy. 2+2+2

(nﬂﬁaﬁgﬁmﬁ)

( Map Related Questions )

fﬁw:wqmmgmﬁmﬁmmﬁﬁﬁwﬁmﬁ
Instruction : Question Nos. 9(A) and 9(B) are related to map.
Fefafge wE #1 ww * 3 ™ @ e § © fis g @ ofie owisn 98 @ q
WM 3 & f L, 1 o fawifa €
A .

i) 98 JMug Jgl Sri-w < e ud

i+
i) 98 M W A H G w1 A R w5 emem gan u 1+1
iii) asmmaﬁmmuaﬁmrﬁsﬂﬁqﬁmw 144
iv) 98 WM wEl fom, 1929ﬁwmﬂa;igﬁummmﬁ%mganm| 141
v) aavmwaai‘r@tmmaa@[% 1+1

[ S —
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9(A).

9(B).

9(B).

 9(A).

7031

(i) FET T e TR © g g m Akl

11 825(CW)

In the given outline map of India, locate the following places by the symbol ® with
names. For correct mention of name and nia:king of location 3, § marks have been
allotted. o

I} The district where Chauri Chadura incident took place. 1+1
. o))

i) The place where the movempQt of indigo farmers took place. 1+3
iii)  The place where Mahatma @dhi first made salt. % +1

i) The place where the Indih National Cong:-css session was held in
December, 1929, .;.4-.;.

V) The place where Chandrashekher Azad was martyred.

e - oA m s 3 Y1 v o HRfRae =) ztve v A -
) WM W >~ fag grr vy % AW ahe

4

ha]—

+

-+

itl) 2V YRE F1 o it I 36w s e g A afal
iv) IR 9RA F fRm o wf wd © Rig g o ahal
v) MWﬁ@m@WWQ@ﬂW:ﬁEWWF%HI

Instruction : Show the following onthe given outline map of India :
i) River Mahanadi by symbol 7+, with name of the state.

Nl= Ml A s R
+ +
e L T TN

+

+

[ STEI X TREY
+
Bl=t A3

ii) Capital city of the Telanganafi%atc by symbol © with name.

ili) A cotton textile industry situated in South India by symbol $S with name,

i+
iv) A national park situated in North India by symbol © with name. j+2
\! A river valley project situated in central India by symbol == with name. % + %

( e gt whetizat ¥ Bt wrafer wd & e & ww F )

( Only for visually impaired examinees in lieu of Map work )

e : WM%WMH—%ﬁ%ﬁﬁQIWWWQW|
i) fw e § 9H-< R g g ot 2 1

i) fhu e WA f G F TR B e gan o 1
iii) ﬁ:awmmﬁtﬂaﬁﬁmm:ar%m? 1
v) e T w fREe, 1929 § SR 0 wiE @ e g 7 :
v e wm waset s e d 2 i

v ) | Tum over
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